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Note : 5 We-U7 @1 trg sl -3, &, 3, & aert § o favwifisr o wrar &1 wm(ﬁgﬁﬂum)ﬁuaaqﬁﬂa_

e 8, s e W ) 2w et i A #) wvsta, i, & aun § (Rivga Iecrra e ) I H & e B
TRI® GUE X ve N difare| fRqga IR anfard &1 This paper is divided into five Sections-A, B, C, D & E.
Section-A (Short Answer Questions) contains cne question of ten parts requiring short answer. All these
ten parts are compulsory. Sections-B, C, D & E (Descriptive Answer Questions) each contains two
questions. Attempt one question from each Section. Answer must be descnptlve
- @Us-H (Section-A) _

F¥ WU ¥ U WA & 9 Wi & oy IoR 3nfdrer &1yl W 1.3/2% 37 @7 &1 This Section contains one
question of ten parts requiring short answers. Each parts carries 1.3/2% marks

1.() 19 ST : Evaluate :

SInX ; i s
Lim T e GO e TS
x 0 X +

(if) 7 e @t et § AT @) Tt a%’Tﬁﬁu Dlscuss the contlnurly and dlscontmuaty of the function :
- f(x)=sin(1/x) when (57§) x £0

=1 when (@) x=0. '-"j: §=

(iii) <EEE fS BT £ (x) = | x - 1], x _1waxaaaa=ﬂu=|?r%|

Show that the function f (x) = | x —1}is not drfferentlable at x 1
(iv) ETE-{ If x =rcos 6,y =rsin 6, gurfzE 5 Showlhat :
o(x,y) _
o(r, 8) .
(v) I3 f5 : Show that : 8 (m,n)<B (n,m).
(vi) TF y* =4x & Ia<ael smd i)
Find the asymptotes of the curve y? =4x.
(vii) x*.e™ @1 nal 3adel Vi 5q Do
Find the nth differential coefficient of x2', e~

(Vi) of& 1ty = (y 1 x), Z=f8t Rb show that x %‘i+ y '5—‘0
: X y

§ 32 .
(X): srraife : Evaluate - [ [xy (14 x + ) dxdy.
ol ;

() aas-:?+ Y~ 1% ot fig (x, y) W wqeRean aen i & e 5 Sl
Find the equation of the tangent and normal at any poml (x.y) of the curve %‘ t zm =1,

@us-d, |, € td § (Section-B, C, D & E)
nﬁawﬁa‘rm‘s‘lmmﬁwmaﬁﬁmuﬁiﬁmslwmmﬁlﬁwﬁmﬁm%l Each

Section contains two questions. Attempt one question from each Section.Each questlon carnes 510

marks. Answer must be descnplwe
@us-d (Section-B)

2.(a) frmfeiRaa e @t x =0T X = mmqmaﬁi’t&ma%%m

Examine the following function for continuity at x = Oandx = 1
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(b)

3(3)
(b)
4.(a)

(b)

5.(a)

(b)

o.(a)
(b)

7.(a)

(b)

8.(a)

(b)

9.(a)

(b)

FAUTINIGU W TV VWA T AWl Sry B 1 W

Pt X* | foriwafs x <0
11 . forizas 0<x <1
el x| forlsmfs x> 1
B O 19 7
n > .
A1 3iadet oTids w1 AE) Find the nth differential coefficient of tan™' (x /a).
BN & s 3rrar '
YT @Y -
265 5 Px2 g g i (;?f;ﬁ = ﬁﬁ;\’ BIfeTeIState and prove Cauchy's mean value theorem.
. ) WﬁTﬁfﬁﬁrﬁaaﬁWFExpand2xa+7x2+x—1in power of (x - 2).
TRy mtores s . YUS-¥ (Section-C) '
9%+ ¥® +2° _ 3xyz) zufee : Show that :
9

(i+ 2,0

_— ey u_._'__
ox fy oz (x+y+2z)
zefse s didge X° , |

_ é"ﬁféﬁ?+5?=1a?rt?@ﬁﬂﬁrw—1—=i'+i—i%|

Sh pZ 32 bz aZbZ

ow t i :
hat the pedal €quation of the ellipse£+y—2='1,is gl b ] 2

| az bE 'pz __a_2+-b_2_'_azb2'

afzcpac L v
D T St & vt sreterer & @t Rre @ifsre &5 P W amar Brsan €0° /ab 21, 5t a 3p

e & arg-arait ooy .y -
6 i oF curvaturﬁe“aaltgpql-%l If CSP. CD be a pair of conjugate semidiameters of an ellipse, prove that
is CD® /ab, a and b being the lengths of the semiaxes of the ellipse,

IR @3 & IRar ,
@f'ﬁrmmgj heg th" €0 & + y sin a = a P TAEY T DI, T o 0 RN B1 30 3% B sqfirdy
& envelope of the family of straight lines x cos a + y sin « = a, the parameter being

a, and interpret the result geometrically. :
WUs-g (Section-D)
2 e
?TX}; E’:r +dX) = J;};a; X) ?ir feror SfSel Trace the curve y*(a+x)=x2(a-x).
yax dy dT&Fx* + y? < 1R 9F 57 S| Evaluat'e”x‘y’dx dy over the region x? + y? <1

- 3@l
oz @i 75 :Prove that:

B(m,n)= M:ﬂﬁ (where) m >0,n >0,
|(m +n)

2.0 .5 : '
aba’y? = x° (2a — x) 1 TYOT &AW s Hfoe| Find the whole area ofthe curve a2y ? = x* (23 — X)
Xgus-§ (Section-E) ¥ _

firg @ifSe 1 a 3ay? =x(.;( -ajz 'aiuasqqa?ramﬁ%%f

=

4a

Prove that the length of the loop of the curve 3ay? = x (x —-a)? is =

\ , 3

Rreifss y? (2a - x)=x* ® T Fraweil & WRa: goe | [l 3/ a1 sme s B Find the

volume. of the solid generated by the revolution of the cissoid ](2 (22 - x) =x? about its asymptote.
sl ' :

&2 y = cosh(x /¢) P x 378l & TRar: gAM A A FHYS B T ST Find the surface generated by

the catenary y =cosh(x /c) about the axis of .

the revolution of an arc of
am2ay” = (x —a?) ®I o, @K@y = a & IRa: QO X &1 $0 9OR 51 St 3 s s e
= (x —a?)revolves about the stralgh! line y = a. Find the volume of the salid

The loop of the curve 2ay*
generated.
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